|

Multiplying Fractions Name:
Solve each problem. Answers
H 1 2) | 3 .
—X—= —x—=
2 2 4 5
2.
3.
4,
3) 1 4 49 2 1
—X—= —x—=
2 5 3 2 5.
6.
7.
S 2 1 6) | 4
— X = —x — =
5 3 2 5 8.
9.
10.
) 1 8) 1 1
S T X T 1.
3 2 2 5
12.
9) 3 3 10) 2
— X —= — X — =
5 4 3 4
1) 1 12) > 1
—X—= —x—=
2 5 4 4
1-10 [92[83]75]67]58]50[42[33]25]17]
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ﬂ; Multiplying Fractions

Name: Answer Key
Solve each problem. Answers
4
n 1 2) 1 3 L 4
—_— — = —_— X — = 3
2 2 4 5
) 7
1 1 1 1 3 3
X = X = 4
2 2 4 4 5 20 3 /10
2
. 7
3 1 4 49 2 1
—_— — = —_— X — =
25 302 5. /s
1 4 4 2 1 2
X = X = 4/
2 5 10 3 2 6 6. 10
2
, /6
5) 2 1 6) 1 4 .
—_— — = —_— X — =
5 3 2 5 8. /10
2 1 2 1 4 4
X = X — 9 9/
5 3 15 2 5 10 - 20
2
10. /12
) ) 1 8) 1 1 1
2 L %
3 ) ) 5 11. 10
2 1 2 1 1 1 2
X = X = 12. /16
3 2 6 2 5 10
9 3 3 10) 2
—x—= — X —=
5 4 3 4
3 3 9 1 2 2
X = X —
5 4 20 3 4 12
1) 1 12) > 1
—x—= — X —=
2 5 4 4
1 1 1 2 1 2
X = X =
2 5 10 4 4 16
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Multiplying Fractions Name:
Solve each problem. Answers
H 1 2) 2 3 .
—X—= —x—=
2 4 4 4
2.
3.
4,
3) 2 1 4 4 1
—X—= —x—=
5 5 5 2 5.
6.
7.
5 3 1 6) | 1
— X = — X — =
4 2 2 2 8.
9.
10.
1 3 8 1 4
S T T X T 1.
3 5 4 5
12.
9) 1 10) 2
— X —= — X — =
2 5 5 4
1) ) 12) 1
—X—= —x—=
4 4 2 2
1-10 [92[83]75]67]58]50[42[33]25]17]
@ www.CommonCoreSheets.com 2 11-12]1 8 | O




ﬂ; Multiplying Fractions

Name: Answer Key
Solve each problem. Answers
v
Do ) 2 3 . 8
—_— — = —_— X — = 6
2 4 4 4
2 /16
1 1 1 2 3 6
X = X = 5
2 4 8 4 4 16 3 755
4
s 710
3) 2 1 4 4 1
—_— — = —_— X — =
5 5 5 2 5 VA
2 1 2 4 1 4
X = X == 1/
5 5 25 5 2 10 6. 4
3
7. /15
5 3 1 6) | 1
—  x— = _—x— = 4/
4 2 2 2 8. 20
3 1 1 1
X = X — 1/
2
10. /20
o1 3 8) 1 4
— X T N T 11 2/16
3 5 4 5 '
1 3 3 1 4 4 1
X = X = 12. /2
3 5 15 4 5 20
9 1 1 10) 2
—x— = — X —=
2 5 5 4
1 1 1 1 2 2
X = X —
2 5 10 5 4 20
1) ) 12) 1
—x—= — X —=
4 4 2 2
1 2 2 1 1
X = X =
4 4 16 2 2 4
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ﬂ; Multiplying Fractions Name:

Solve each problem. Answers
D 3 4 ) 1 2 :
—_— — = — X — =
5 5 4 4
2.
3.
4.
3) 4 1 49 2 2
—_— — = —_— X — =
5 5 4 5 s
6.
7.
5 3 1 6) | 1
—_—x — = —_— X — =
4 2 4 2 8
9.
10.
o1 2 8) 2 2
— T, = < T = 11
3 3 5 5 '
12.
9) 3 ) 10) 2
—x—= — X =
5 5 2 3
1) 3 ) 12) 2
—x—= — X =
5 3 2 5

1-10 [92[83]75]67]58]50[42[33]25]17]
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Multiplying Fractions Name: Answer Key
Solve each problem. Answers
'y
3 4 2) ) L. 25
R S LN 2
5 5 4 4
2 716
3 4 12 1 2 2
X = X = 4
5 5 25 44 16 3. 725
4
" 75
3 4 1 9 2 2
AL I .
5 5 4 s . /s
4 1 4 2 2 4
X = X == 1/
5 5 25 4 5 20 6. 8
2
7 79
5 3 1 6) | 1
= = — x— = 4/
4 2 4 2 8. 25
3 1 1 1 1
X = X = é//
4 2 4 2 8 9. 25
2
10. /%
o1 2 8 2 2
3 5 T T 1 %
3 3 5 5 . 15
1 2 2 2 4 2
X = X = 12. /10
3 3 9 5 5 25
9 3 2 10) 2
— X — = — X =
5 5 2 3
3 2 6 1 2 2
X = X —
5 5 25 2 3 6
1) 3 ) 12) 2
2= LN
5 3 2 5
3 2 6 1 2 2
X = X =
5 3 15 2 5 10
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Multiplying Fractions Name:
Solve each problem. Answers
D 2 2) I
= _ L =
2 3
2.
3.
4.
3) 1 4)
o ——
2 2 5
6.
7.
5 1 6)
— — =
2 3 8.
9.
10.
) 1 8)
L =
4 4 11.
12.
9 1 3 10)
- —
3 5
11) 3 12)
- —
2 5
1-10 | 92 75|67 ]58]50]42]33]25]17]
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ﬂ; Multiplying Fractions

Name: Answer Key
Solve each problem. Answers
Y
1) 2 2) 1 B 6
—_— — = —_— X — = 2
2 3 5 2
) 710
1 2 2 2 1 2
X = X = |
2 3 6 5 2 10 3 /4
9
. /s
3 1 1 49 3 3
—_— — = —_— X — = 1
2 2 5 5 5, /6
1 3 3 9
X — X == 12/
2 2 4 5 5 25 6. 20
2
, /16
5 1 1 6) 4 3 )
—_— — = — X — =
2 3 5 4 8. /4
1 1 1 4 3 12
X = X — 9 3/
2 3 6 5 4 20 - 15
3
10. /8
) ) 1 8) 1 1 3
2 N .
4 4 ) ) 11. 10
2 1 2 1 1 12
X = X = 12. /25
4 4 16 2 2 4
9 1 3 10) 3 1
—x—= — X —=
3 5 4 2
1 3 3 3 1 3
X = X —
3 5 15 4 2 8
1) 3 12) 4 3
—x—= — X —=
2 5 5 5
1 3 3 4 3 12
X = X =
2 5 10 5 5 25
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ﬂ; Multiplying Fractions Name:

Solve each problem. Answers
D 3 ) 1 :
—_— X — = — X — =
4 5 3 4
2.
3.
4.
3) 3 4 49 2 2
—_— X — = —_— X — =
5 5 4 4 5
6.
7.
5) 4 1 6) 2 1
—_—x — = —_— X — =
5 5 4 3 8.
9.
10.
3 2 8) 1 1
T = T = 11
4 5 2 2 '
12.
9) - 3 10) 1
—x—= — X =
5 4 5 5
1) 1 12) > 2
—x—= — X =
2 4 3 4

1-10 [92[83]75]67]58]50[42[33]25]17]
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ﬂ; Multiplying Fractions

Name: Answer Key
Solve each problem. Answers
Y
—_— — = —_— X — = 1
4 5 3 4
2. /12
3 1 3 1 1 1
X = X = 12
4 5 20 3 4 12 3 /25
4
. P
3) 3 4 49 2 2
—_— — = —_— X — =
5 5 4 4 5. s
3 4 12 2 2 4
X = X == 2/
5 5 25 4 4 16 6. 12
6
7 7
5) 4 1 6) 2 1 .
—_— — = — X — =
5 5 4 3 8. /4
4 1 4 2 1 2
6
X = X = 9. /20
5 5 25 4 3 12
1
10. /25
7 3 2 8 1 1 1
32 N %
4 5 ) ) 11. 8
3 2 6 1 1 4
X = X = 12. /12
4 5 20 2 2 4
9 2 3 10) 1
—x—= — X —=
5 4 5 5
2 3 6 1 1 1
X = X —
5 4 20 5 5 25
1) 12) > 2
—x—= — X —=
2 4 3 4
1 1 2 2 4
X = X =
2 4 8 3 4 12
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ﬂ; Multiplying Fractions Name:

Solve each problem. Answers
D 2 ) 1 .
—_— — = — X — =
3 2 2 2
2.
3.
4.
3) 3 1 49 1 4
—_— — = —_— X — =
5 2 4 5 5
6.
7.
5 1 3 6) | 1
—_— — = —_— X — =
4 5 2 4 8
9.
10.
o1 1 8) 2 1
— T, = < T, = 11
3 2 5 2 '
12.
9) - ) 10) 4
—x—= — X =
3 3 2 5
1) - 3 12) 2
—x—= — X =
3 4 2 4

1-10 [92[83]75]67]58]50[42[33]25]17]
Math www.CommonCoreSheets.com 6 11-12] 8 | 0
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Multiplying Fractions Name: Answer Key
Solve each problem. Answers
Y.
1y 2 1 2) 1 L. 6
3 2 2 2
2 /4
2 1 2 1 1 1
X = X = 3
3 2 6 2 2 4 3. /10
4
s 72
3 3 1 49 4
N S IO S s
5 2 4 5 s /20
3 1 3 1 4 4
X = X == 1/
5 2 10 4 5 20 6. 8
1
7 /s
S 1 3 6 | 1 ,
— X = — X — =
4 5 2 4 8. /10
1 3 3 1 1 1
4 5 20 2 4 8 9. 9
4
10. /10
R 2 1 Y
1 1 1 2 1 2 2
X = X = 12. /%
3 2 6 5 2 10
9 2 2 10) 4
. S L S
3 3 2 5
2 2 1 4 4
X = X —
3 3 9 2 5 10
1) - 3 12) 2
Y S IO
3 4 2 4
2 3 6 1 2 2
X = X =
3 4 12 2 4 8
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ﬂ; Multiplying Fractions Name:

Solve each problem. Answers
n 3 ) 3 &
—_—x — = —_— X — =
4 4 5 4
2.
3.
4,
3) 2 1 49 1 1
—_—x — = —_— X — =
4 2 2 3 s
6.
7.
5) - 1 6) 3 1
—_—x — = —_— X — =
3 2 4 3 8.
9.
10.
o1 2 8) 2 1
T, T — ST = 11
23 3 4 '
12.
9 3 1 10) 4
—x—= — X —=
4 3 2 5
11) 4 1 12) > 3
—x—= — X —=
5 3 3 4
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ﬂ; Multiplying Fractions

Name: Answer Key
Solve each problem. Answers
V2
D o3 ) 3 L 16
—_— — = —_— X — =
4 4 5 4 ) 3/20
3 1 3 3 1 3 '
X = X =
4 4 16 5 4 20 N A
1
4 /s
3) 2 1 49 1 1
—_— — = —_— X — = 2
4 2 2 3 . 7
2 1 2 L 1 ,
X = =
4 2 8 2 3 6 6. /12
2
7 76
5) - 1 6) 3 1
L — x— = 2/
3 2 4 3 8. 12
2 1 2 3 1 3 Y
X = =
3 2 6 4 3 12 % 12
4
10. /10
1 2 8) 2 1 4
. 2L Yy
> 3 3 4 11. 15
1 2 2 2 1 2 6
X = X = 12. /12
2 3 6 3 4 12
9 3 1 10) LA
_X_: _— - =
4 3 2 5
3 1 3 1 4 4
X = X —
4 3 12 2 5 10
11) 4 1 12) > 3
—x—= — X —=
5 3 3 4
4 1 4 2 3 6
X = X =
5 3 15 3 4 12
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Multiplying Fractions Name:
Solve each problem. Answers
H - 3 2) 3 3 8
—X—= —x—=
3 4 4 4
2.
3.
4,
3) 1 4 49 2
—X—= —x—=
4 s 2 3 .
6.
7.
5 1 1 6) 1 2
— X = —x — =
4 2 3 5 8.
9.
10.
1 1 8) 4 2
T . X 1.
4 2 5 4
12.
9) ) 10) > 2
— X —= — X —=
2 4 5 3
1) 1 12) 3 1
—X—= —x—=
3 4 5 2
1-10 [92[83]75]67]58]50[42[33]25]17]
@ www.CommonCoreSheets.com 8 11-12]1 8 | O
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Multiplying Fractions Name: Answer Key
Solve each problem. Answers
Y,
N 2 3 2) 3 3 L 12
R S SO 9
3 4 4 4
2 /16
2 3 6 3 3 9
X = X = 4
3 4 12 4 4 16 3. /20
2
4 /s
) 1 4 49 2
O S LI S 1
4 5 2 3 s /;
1 4 4 1 2 2
X = X == 2/
4 5 20 2 3 6 6. 15
1
7 z
5 1 1 6) 1 2 o
e B
4 2 3 5 8. /20
1 1 1 2 2
X = X = %/
4 2 8 3 5 15 9. 8
4
10. /15
1 1 8) 4 2
L T T, T 1 /,
4 2 5 4 . 12
1 1 4 2 8 3
X = X = 12. /10
4 2 8 5 4 20
9 1 2 10) 2 2
— X — = — X =
2 4 5 3
1 2 2 2 4
X = X =
2 4 8 5 3 15
1) 12) 3 1
e oo
3 4 5 2
1 1 1 3 1 3
X = X =
3 4 12 5 2 10
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ﬂ; Multiplying Fractions Name:

Solve each problem. Answers
D 1 ) 1 :
—_— — = —_— X — =
2 2 2 3
2.
3.
4,
3) 1 2 49 1
—_— — = —_— X — =
5 3 2 2 5
6.
7.
5) - 1 6) 3 1
—_— — = — X — =
4 2 5 5 8.
9.
10.
o1 2 8) 2 1
T = < T, = 11
2 4 5 2 '
12.
9) 3 10) 2
—x— = — X —=
2 4 4 3
11) 3 1 12) > 4
—x— = — X —=
5 3 4 5
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ﬂ; Multiplying Fractions

Name: Answer Key
Solve each problem. Answers
4
1) 1 2) 1 B 4
—_—x — = —_— X — = 1
2 2 2 3
) /s
1 1 1 1 1 1
X = X = 5
2 2 4 2 3 6 N /15
1
. /4
3 1 2 49 1
—_—x — = —_— X — = )
5 3 2 2 5 /s
1 2 2 1
X = X = 3/
5 3 15 2 2 4 6. 25
2
, /s
5) - 1 6) 3 1
e — = — x—= 2/
4 2 5 5 8. 10
2 1 3 1 3
X = X — 9 3/
4 2 8 5 5 25 ~ 8
2
10. /12
7 1 2 8) 2 1 3
B T 1, /15
1 2 2 1 2 8
X = X = 12. /20
2 4 8 5 2 10
9 1 3 10) 2
—x—= — X—=
2 4 4 3
1 3 1 2 2
X = X —
2 4 4 3 12
11) 3 1 12) > 4
—x—= — X— =
5 3 4 5
3 1 3 2 4 8
X = X =
5 3 15 4 5 20
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ﬂ; Multiplying Fractions Name:

Solve each problem. Answers
D 1 9 ) 1 :
—_— — = — X — =
3 5 3 5
2.
3.
4.
3) 2 2 49 1
—_— — = —_— X — =
3 4 3 4 5
6.
7.
5 3 3 6) | 3
—_— — = —_— X — =
5 4 4 4 8.
9.
10.
o1 3 8) 1 1
— YT = A 11
3 5 2 3 '
12.
9) 4 2 10) 3 1
—x—= — X =
5 3 5 3
1) - 4 12) 1
—x—= — X—=
5 5 3 3

1-10 [92[83]75]67]58]50[42[33]25]17]
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ﬂ; Multiplying Fractions

Name: Answer Key
Solve each problem. Answers
V2
—_— — = — X — = 1
3 5 3 5
) /1s
1 2 2 1 1 1
X = X = 4
3 5 15 3 5 15 3 /12
1
s 12
3) 2 2 49 1
—_— — = —_— X — =
3 4 34 5. 2
2 2 4 1 1
X = X = 3/
3 4 12 3 4 12 6. 16
3
7. /15
5 3 3 6) | 3 .
—_— — = —_— X — =
5 4 4 4 8. /6
3 3 9 1 3 3
X = X — 8/
5 4 20 4 4 16 % 15
3
10. /15
1 3 8) 1 1
— X T XL T 11 8/25
3 5 2 3 '
1 3 3 1 1 1 1
X = X = 12. /9
3 5 15 2 3 6
9) 4 2 10) 3 1
—x—= — X =
5 3 5 3
4 2 8 3 1 3
X = X —
5 3 15 5 3 15
1) - 4 12) 1
—x—= — X =
5 5 3 3
2 4 8 1 1 1
X = X =
5 5 25 3 3 9
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